o g Shotton Hall Primary School P
{\@\ . . Q® 9’4;
Lyl Working together to S 3¢ %
HME SHINE Tk
‘S‘H;_‘f\?’ Successful, Happy, Inspired and Nurtured towards Excellence "S‘HINQ’

Maths 0 Complete the missing digits.
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10,000 -4)92 = 5,808
3260 X 7 = 22,827

276 -4 = 69

o Amy completes the calculation M5 + 6
She gets a remainder of 7
Explain how you know Amy is incorrect.

If the divisor is 6 then the remainder

cannot be greater than 5

o Pencils are put into packs of 24
There are 3,608 pencils.
How many packs of pencils can be made?

150 fun packs 8 pencils left over.

How many more pencils are needed fo make ancther full
pack?
16

o Complete the missing numbers.

8><6='-|x
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o Eva’s House is worth £653, 000
Amir’s house is worth £179, 000 less than Eva’s house.

Complete the bar model to represent the information.

Eva's
- 653,000
A"i ) E i
r's
e 474,000 179,000
© corplete the addition pyramid
1,820
1,020 800
SHO 480 320




English —relative clause ‘relatives’ activity

Check your work with an adult using your revision guide or the relative clause
checklist I gave you on Wednesday's worksheet.

Foundations Subject — Rights Respecting

There was no right or wrong answer for this work that I set. I thought it was
just a lovely opportunity for you to get creative - I would love for anything
you did do to be brought back into school on our return.




